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Instructions :Figures on the right indicate full marks.

1 (a) Write a short note : (any one) 10

(1) Adaptability skill in Senor Payroll.

(2) The narrators visit to the bank manager.

(3) The interview in The Lighthouse Keeper of Aspinwall.

(b) Answer the following questios in short : (any five) 10

(1) What happened when the company denied to pay advance

without genuine emergency ?

(2) What did Tom feel in the beginning of the day ? Why ?

(3) Why did the manager think that the narrator was a very

wealthy person ?

(4) What was strange about the girl wo visited the jewellery

shop ?

(5) Who were stokers ?

(6) How did Skavinski convince the interviewer that he was

physically fit for the job ?

2 Answer the following questions : (any four) 20

(1) What happened in the end of the story My Financial Career?

(2) Which question was the most challenging for Skavinski ?

How did he answer it ?
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(3) What happened when Govind Singh received the letter?

(4) How did the narrator find out that the ring was stolen by the

girl ?

(5) How did Tom trap Ben Rogers ?

(6) Why did the people start to believe that Govind Singh was

mad?

3 (a) Study the following share market report and answer the10

following questions :

Equity benchmark sensex rallied nearly 1% to regain the

59000 mark. There was a ehavy buying in metal, banking, and

capital goods. In a bound range trade, sensex rose 443 points

to settle at 59246. During the day, it jumped to 59308 and at

the end settled a little lower. Intense buying in index majors

Reliance Industries, Sun Pharma and ITC. The appreciation of

rupee also boosted the market. There was a heavy buying

from mutual funds. Sun Pharma was the biggest gainer

followed by ITC, NTPC, RIL, L&T. In contrast, HUL, Asian

Paints, PowerGrid, Wipro were in fall and slipped to 1 to

1.5%. The BSE small cap gauge climbed 0.9%, midcap gained

0.5% and large cap gained 1.3%.

Questions :

(1) What is the trend in the market ?

(2) Which shares are the most gainers ?

(3) What factors are responsible for the trend ?

(4) Explain the terms : sensex, midcap.

(5) Give a suitable title to the report.

(b) Attempt any one : 10

(1) Write a statement of purpose for the admission in a

prestigious school of management for MBA course.

(2) Write a statement of purpose for the admission in a

prestigious institute of computer science for MCA

course.
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4 Complete the following analogy by a proper option :10

(1) Iran : _______ ::Germany : Prussia.

(A) Syria (B) Russia

(C) Iraq (D) Persia

(2) Fuji : Japan :: Kilimanjaro : _______

(A) Africa (B) China

(C) India (D) Australia

(3) Gold : Au :: Silver :________

(A) pb (B) Ag

(C) Fe (D) Sn

(4) 2nd : Ordinal :: _____ : cardinal.

(A) Fracton (B) 3rd

(C) 2 (D) 1st

(5) game : series :: _____ : word.

(A) winner (B) sentence

(C) syllable (D) event

(6) Battalion : ____ :: dollar : cent

(A) army (B) troop

(C) rifles (D) battle

(7) rook : chess ::_____: badminton

(A) grass (B) tennis

(C) shuttlecock (D) swing

(8) stars : Astronomy :: _____ : history

(A) battles (B) eclipse

(C) horse (D) autumn

(9) 80 : 40 :: 2: ______

(A) 8 (B) 4

(C) 1 (D) 20

(10)_____ : horse :: board : train

(A) Stable (B) shoe

(C) ride (D) mount

____________
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